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Practice Test No. 3. Accounting 2122, Summer 2010.  
Name: ____________________________ Class Time: 9:45 or 11:30 (Circle one)     Row in Class ____

Failure to follow instructions below will result in a 5 point reduction in your grade.

Multiple Choice- 25 questions count 4 points each for a total of 100 Points. 

1. Use a soft-lead pencil

2. Enter name in appropriate space above. Write clearly.

3. Circle class time above.

4. Enter above the row number for your seat in class.

On the Opscan Sheet

5. Enter name (last name first) in the area for “NAME.”  

6. Enter student ID number in the area for “IDENTIFICATION NUMBER.” 

7. Enter test number (found in upper right hand corner of this page) in the special codes area.

8. Blacken the area in the circle containing the appropriate letter for each question.

Answer each question by marking the letter representing the best answer.

Chapter 9- Profit Planning

autonumout  Which of the following steps in the preparation of a master budget would logically be performed first?

	a
	Prepare a cash budget.
	c
	Prepare a production schedule.

	b
	Prepare a sales forecast.
	d
	Prepare a budget of manufacturing costs.


autonumout  UNCC budgeted sales of 100,000 units of product R for September.
 Production of one unit of R requires two pounds of material A and three pounds of material B.  

Actual inventory units at Sept. 1 and desired units at Sept. 30 are:

	 
	Actual inventory
	Budgeted inventory

	 
	September 1
	September 30

	Product R
	20,000
	Units
	25,000
	Units

	Material A
	25,000
	Pounds
	18,000
	Pounds

	Material B
	22,000
	Pounds
	24,000
	Pounds

	How many units of R should be produced during September?

	a.
	105,000
	b.
	95,000
	c.
	110,000
	d.
	330,000


autonumout  Repeat the preceding question. How many pounds of Material B should be purchased during September?
	a.
	272,000
	b.
	298,000
	c.
	302,000
	d.
	317,000


autonumout  Assume that the expected cash receipts for the Atlanta Company during the month of April amount to $45,000. On April 1 the company has a cash balance of $9,000 and must have a minimum cash balance of $8,000 on the first of every month for operating funds. Anticipated cash disbursements during April will be $52,000. During April the company will need to borrow:

a. $2,000     b. $4,000      c. $6,000      
d. $8,000     e. none of these
autonumout  Red Company prepared its cash budget for July based on the following projections:

	  Sales
	$1,500,000

	  Markup based on cost
	         50%

	  Decrease in inventories
	$   70,000

	  Increase in accounts payable for inventories
	$  120,000


For July, what were the estimated cash disbursements for inventories?

a. $810,000    b. $1,010,000    c. $1,055,000    d. $1,175,000   e. none of these


autonumout  A company forecasts sales (all on credit) of $50,000, $40,000, and $60,000 for May, June, and July, respectively.  Seventy percent of sales are collected in the month of the sale, 20% in month following the sale, and 8% in second month following the sale, (2% are uncollectible).  What are budgeted cash receipts for July?

a. $18,800     b. $24,500     c. $54,000      d. $60,000       e. none of these

autonumout  A company has budgeted its activity for October based on the following information:

· Sales are budgeted at $300,000.  

· All sales are credit sales and a provision for bad debts is made monthly at the rate of 2% of sales.

· Merchandise inventory was $70,000 at September 30, and an increase of $10,000 is planned for the month.

· All merchandise is marked up to sell at invoice cost plus 25%.

· Cash disbursements for selling and administrative expenses in the month are $40,000.

· Depreciation for the month is projected at 5,000.

Budgeted operating income for October in the amount of

a. $6,000   b. $9,000   c. $56,000   d. $66,000    e. None of these

Use the following information for the next 4 questions.

The January 31, balance sheet of UNCC Corporation follows: (Not a Manufacturing Company)

	Cash

	$  8,000

	Accounts receivable (net of allowance for uncollectible accounts of $2,000)
	38,000

	Inventory
	90,000

	Property and equipment (net of allowance for accum. Deprec. of $60,000)
	40,000

	Total
	$176,000

	Accounts payable
	$ 90,000

	Common stock
	50,000

	Retained earnings
	36,000

	Total
	$176,000


Additional information:

1 Collections are expected to be 60% in the month of sale, 38% the next month, and 2% uncollectible.

2 Accounts payable for purchases are paid in full the following month.

3 Sales are budgeted as follows:  February - $120,000   March - $120,000   April - $140,000

4 Gross margin is 25% of sales.  

5 Purchases each month are sufficient to cover the next month's projected sales.  

6 Other expenses each month, paid in cash, are expected to be $16,500.  

7. Depreciation each month is $5,000.

autonumout  What is the projected balance cash at the end of February?

	a
	$5,000
	b
	$11,500
	c
	$13,000
	d
	$22,000
	e
	$30,000


autonumout  What is the pro forma income (loss) before income taxes for March?

        a.  ($3,700)    b.  ($1,500)    c.  $3,800       d.  $6,100

autonumout  What is the projected accounts payable balance on March 31?

     a.  $82,500   b.  $86,250    c.  $90,000      d.  $105,000

autonumout   The cash disbursements in April for purchases are expected to be:

     a.  $82,500    b.  $86,250   c.  $90,000     d.  $105,000

----------------------

autonumout . A company had the following: (in $thousands)

	Accounts receivable on January 1
	$250

	Accounts receivable on December 31
	200

	Net sales in year (all on credit)
	$2,600


Cash received from customers was:

a. $2,600   b. $2,650   c. $3,050   d. $2,560Answer is D

Chapter 10. Flexible budgets
autonumout   Adams Corporation has developed the following flexible-budget formulas for annual indirect-labor cost:

               Total annual indirect labor cost = $4,800 + $0.50 per machine hour

Operating budgets for the current month are based upon 20,000 hours of planned machine time.  

Indirect-labor costs included in this monthly planning budget are:

a. $14,800    b. $10,000    c. $14,400    d. $10,400

 autonumout  When using a flexible budget, what will occur to variable costs (on a per unit basis) as production increases within the relevant range?

a. Variable costs are not considered in flexible budgeting.
b. Variable costs per unit will decrease. 

c. Variable costs per unit will increase.
d. Variable costs per unit will remain unchanged. 

autonumout  In-Flight Meals prepares meals for a major airline. The selling price to the airline is $10 per meal. The variable costs per meal are: food ($5), wages ($2) and Other ($1). Rent expense($4,000) and insurance expense ($1,000) are fixed. The following schedule shows results for the current year.
	In-Flight Meals
	Budget
	Actual
	Budget  for

	
	For Year
	For Year
	Actual Sales

	Meals - Actual
	10,000
	9,000
	9,000

	Revenue
	
	$90,000
	

	Expenses:
	
	
	

	   Food
	
	$46,000
	

	   Wages
	
	18,500
	

	   Other Variable Expense
	
	8,800
	

	   Rent Expense
	
	4,000
	

	   Insurance Expense
	
	1,000
	

	Total expense
	
	
	

	Net income
	
	
	


What food cost would be shown on a flexible budget for the company for actual sales of 9,000 meals?

	a.
	$40,000
	b.
	$38,000
	c.
	$45,000
	d.
	$30,000
	e.
	Other


autonumout  Continue preceding question. What net income would be shown on a flexible budget for the company for actual sales of 9,000 meals?

	a.
	$25,000
	b.
	$22,000
	c.
	$19,100
	d.
	$13,000
	e.
	Other


Chapter 11. Standard Cost
autonumout  A company has a standard cost of flower for making a snack cake of $.25 based on a standard of one-fourth pound of flour per cake and with the flour having a standard cost of $1.00 per pound. This month they produced 100,000 snack cakes. They used 26,000 pounds of flour at a cost of $28,600.  What is the materials price variance for the snack cakes?
	a.
	Price Variance $2,600 U
	b.
	Price Variance $1,000 U
	

	c.
	Price Variance $2,600 F
	d.
	Price Variance $1,000 F


autonumout  Refer to preceding question. What is the materials usage variance?
	a.
	Usage Variance $2,600 U
	b.
	Usage Variance $1,000 U
	

	c.
	Usage Variance $2,600 F
	d.
	Usage Variance $1,000 F


 autonumout  During March, BEST Company's direct-material costs for the manufacture of product T were as follows:

	Actual unit purchase price
	$6.50

	Standard quantity allowed for actual production
	2,700

	Quantity purchased and used for actual production
	2,900

	Standard unit price
	$6.00


The material usage variance for March was:

a. $1,250 unfavorable        b. $1,250 favorable  c. $1,200 unfavorable        d. $1,300 favorable

autonumout   A company manufactures sofa's with vinyl covering.  The standard material cost for the vinyl for one sofa is $27.00 based on twelve square feet of vinyl at a cost of $2.25 per square foot.  A production run of 1,000 sofas resulted in usage of 12,600 square feet of vinyl at a cost of $2.50 per square foot, a total cost of $31,500.  The price variance resulting from the above production run was:

a. $1,200 unfavorable      b. $3,150 unfavorable    c. $1,800 favorable     d. $3,150 favorable    e. Other

autonumout   Information on Townsend Company's direct-labor costs for May is:

	Standard cost per direct labor hour
	$  6.00

	Standard direct-labor hours
	20,000

	Actual direct-labor hours
	21,000

	Direct-labor rate variance-favorable
	$ 4,200


What is Townsend's total direct-labor payroll for May?

a. $116,000      b. $117,600      c. $120,000      d. $121,800

 autonumout  A company uses a standard cost system. Data relating to direct labor for the month of August is as follows:

	  Direct labor efficiency variance- unfavorable
	$5,250.00

	  Standard direct labor rate
	$    7.00

	  Actual direct labor rate
	$    7.50

	  Standard hours allowed for actual production
	9,000.00


What are the actual hours worked for the month of August?

a. 9,750           b. 8,400             c. 8,300             d. 8,250
autonumout   The difference between the standard labor rate multiplied by the actual labor hours worked and the standard labor rate multiplied by the standard labor hours is the

a. Total labor variance.      b. Labor rate variance.     c. Labor efficiency variance.     d. None of these

autonumout   Martin Company uses a two-way analysis of overhead variances.  Selected data for the April production activity are as follows:

	Actual variable factory overhead incurred
	$196,000

	Variable factory OH rate per direct-labor hour
	     6.00

	Standard direct-labor hours allowed
	33,000

	Actual direct-labor hours
	32,000


The variable overhead spending variance is:

a. $2,000 favorable     b. $4,000 unfavorable     

c. $4,000 favorable    d. $6,000 favorable

autonumout  A company uses a standard cost system and prepared this budget at normal capacity for January:

	Direct-labor hours (denominator hours)
	24,000

	Variable factory overhead
	$ 48,000

	Fixed factory overhead
	$108,000

	Total factory overhead per direct-labor hour
	$ 6.50


Actual data for January were as follows:

	    Direct-labor hours worked
	 22,000

	    Total fixed factory overhead
	$105,000

	    Total variable overhead
	$ 39,000

	    Standard direct-labor hours allowed for capacity attained
	 23,000


What is the variable overhead efficiency variance for January?

a. $2,000 favorable      b. $5,000 favorable    

c. $2,000 unfavorable   d. none of these

